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Multiplying by 2, 5, or 10

1) Flora used 6 drinking straws to build one straw house. How many straws will she 

need to build 2 such houses?

6  ×  2  =

Mr. Butler is setting up an aquarium. He bought 5 packs of luminous stones, 

with 10 stones in each pack. How many stones did Mr. Butler buy?

2)

5  ×  10  =

4) Arlene can make 8 strands of fake ivy leaves in a day. How many strands can she 

make in 10 days?

8  ×  10  =

5) Irwin bought 7 !ashlights. If each !ashlight needs 2 batteries, how many batteries 

should Irwin buy to power both the !ashlights?

7  ×  2  =

3) Tess uses 9 clothespins to make one wreath. How many clothespins will she need 

to make 5 such wreaths? 

9  ×  5  =
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